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General Instructions :
(i) Attempt all sections.

(it)  Illustrate your answers wherever possible.

Eus h
SECTION A

G& 8 1 eTd FAIET | @H T B EA BT |

State true or false. Attempt all questions.

=

HigYeR feen U agail ol Tehiya fohdl STl 7 |

Bundles are assembled in the modular system.

2. JoC IS HR AT 2 |
Welt pocket is a slash pocket.

3. =4 Zi%h H o=k &l gl |
Chain stitch has no stretch.

4.  SATSS 2hT RIS T < 2ok o Tagd W e it 2 |

Blind stitch hemming machine works on chain stitch principle.

5. o9& H Tohamsiicl Jies AR 3TS U | el ST 2 |

Functional yoke in a garment is always cut on the crosswise grain.
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SECTION B
F5q Hlerd I Ffrg |
Give very short answers.
6. Ticiet i foas wefia &1 %™ FarsT | 2
Give the function of a cylinder bed sewing machine.
7. 951 H &l i Ugt hl Hedl §aTsy | 2
HAYAT
R F Fifed ST A Fa1sy, |
Give the importance of plackets in a garment.
OR
Give the use of looper and bobbin.
8.  Tuefar shi wftwm €T | 2
Define mitering.
9. HUS & UH & AW 9qsU | AT 38 HY YgEE ? 2
Name the grains of fabric. How will you identify them ?
10. IR T e o 7T ag <l T0Ta 1 SHM 3719 fohd Jehr e 2 2
AYAT
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How will you calculate the fabric required for stitching a Churidar

Pajama ?
OR

How will you calculate the fabric required for stitching a Nighty for
yourself ?
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SECTION C

50 - 75 iscl § Y% & Glered IR A |

Write short answers in 50 — 75 words each.

11.

12.

13.

14.

15.
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Sed feehe o WA <l FE TART |
List the components of a bundle ticket.
Tifea sea foeeH % oW Jamsy |

AAAT

IR 1 Gitqea faemor A |

Give the advantages of progressive bundle system.

OR

Give a brief account of Serger.

qAleh 2ioh ohl HEwaqUl {RINaTd SaTsy |
Give the important characteristics of lock stitch.

T ik AT T GHSATST |

Explain Flat lock machine.
I o1 STThTUl SHITTT | Jeeh o <1 Teh IETEWT ST |

YT
I bl T hT W@ <kl ufEsS o fafys ol = @ 2

Classify collars. Give one example of each.

OR

What are the different methods by which the neckline of a garment can
be finished ?
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SECTION D

100 - 150 551 § J=&% & faega IR F197 |

Write descriptive answers in 100 - 150 words each.

16.

17.

18.

19.
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e Tmior < S H ST AT ek ugrdl ol aiedTe SN | SStest,
FoTATS(T, AT ST S THIET T TN TSy | 5

Define the support materials used in garment construction. Give the use
of underlining, interlining, lining and interfacing.

e TedH feen 9 uiseer TiewwH feen # @ Jansy | 5
Give the difference between unit production system and modular
production system.

frefefiad 9 & foheel g7 ol FHEST - 5
(1) s A% AW foerg wefl=

(F) =4 2l i mefa

(@) o1 3F A3

Explain any two of the following :

(a)  Feed off arm sewing machine

(b)  Chain stitch machine

(¢) Bar tack machine

A el The o T HaS shi AN T STAM T 9 A9 fobel aral i
S H TGN ? 35h 92+ 1 9338 367 U9 o g T SIST | 5

HYAT

YT UTeeh TSl AT ST dT8dl 3 | 3ok oIt SUg hl TN I STHH
Y ford Yok ITEN 2 3Tk Ued o1 WITSE 36”7 U4 o hug W fe@msy |

What points will you keep in mind while calculating the fabric for a

gathered skirt ? Show its pattern layout on 36” width fabric.

OR

Your customer wants to make a saree blouse. How will you calculate the
fabric required for the same ? Show its pattern layout on 36” width
fabric.
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